F~PORTS

F-PORTS
/.

USE ONLY APPROVED RADIO-PURE MATERIAL

A/R §0 WIRE, @ 06 MAX, Cu DR BRASS
E~-PORTS  ~= 2 BS SCREW, SCH, M6 X 1 - 4gbg X 0rm L, BRAGS
72 B8 SCREW, SCH, M6 X 1 - 4gho X 2omm L, BRASS
a4 BT SCREW, SCH, M5 X 08 - dghg X 30mm L, DRASS
16 56 SCREW, SCH, M5 X 08 - Agép X 2amm L, BRASS
255 SCREW, SCH, M3 X 0.8 - 4gbg X ibnn L, BRASS
' et 54 SCREW, SCH, M5 X 08 - 4gby X femm L, BRASS
ii 12 63 sc%v, SCH, M4 X 0.7 ~ 4gbg X S0mm L, BRASS o
‘ —_— 1252 SCREW, SCH, MA X 0.7 - Agbg X Somw L, BRASS
r 48 B SCAEW, SCH, WA X 0.7 - 4gbg X cerm L, BRASS
i 52 Fo SCHEW, SCH, M4 X 0.7 ~ 406g X 16mm L, BRASS
L. 59 U9 SCREW, SCH, M4 X 07 - 4gbg X lone L, BRASS
EIE SCHEW, SCH, W4 X 07 - 4960 X Bnm I, BRASS
4 W7 SCREW, SCH, H3 X 09 - 4gbg A Ieme L, BRASS
I §6_ 2aGibdi-6 (-RING TABULATION
i §5 2d63641-5 (-RING TABULATION
I 1 B4 2aG3641-4 O-RING TABULATION
I ) 43
Che | REF We 2#Go/33  ADAPILR FLANGL, 60OMK STEM
L _ U T~ REF W1 2d62743  ADAPTER FLANGE, SOPK STER
B =y REF W0 2463226 MORIZONTAL COLD FINGER ASSY
T REF 9 afleich  STAN, S0k
8 REF_ 8 2qGorl4 STEM, 600sK B
I REF 7 2862696 STIM WELDMENT, 4K (LHe)
REF [ 2gGo684  STEW, LN
![ REF D5 28Ge674  STEM, OVC
34
33
/\/ Al L VIEW ij__, 32 2203841 PINPIVIY, HANGER
VIEW A-A 22 [1 2aG3gsl  PIN] FILAMENT, HANGER
44 B0 caGaBal | WASHER, SUPPORT, HANGER
P9 2463943 BUNPER, ICE~BOX, INNER (600,50,10hK
P8 2863813 BUMPER, ICE-BUX, DUTER (LNLHe)
27 2163712-2 PIVIDT, HANGER, ICE-BOX, INNER (10mK)
|| 26 2903712-1 PIVIT, RANGER, ICE~BOX, TNNER (S0mK)
25 e4G3682-2 PIVOT, NANGER, ICE-BOX, DUTER (LHe,600nK)
24 2¢GabBa-1 PIVIDT, HANGER, ICE-BOY, INTER GND
23 04Ga66A-0 HABGER FILAMENT ASSY, ICE-BOX, SHIRT (600,50,10K)
P2 2¢03664-1 HANGER FILAMENT ASSY, ICE-BDX, LONG (LNLHe) | -
41 2263652 SUPHIORT, HANGER, ICE~BUX, UPPER
0 23793 GASKE], T0P, ICE-BUY, LHe
3782 GASKET, F-PORI, ICE-BOX, LHe
= (3802 GASKET, E-PORT, [CE-BOX, LMe

G3614  LID,|CAN, ICE~BOX, 10mK

53604 LD, CAN, ICE~BOX, 50nK
53594 L1DJ CAN, ICE-BOX, 600K
53974 LID) INER, CAN, ICE-BOX, LHe
(3584 LIDJ] CAN, ICE~BOX, LHe
2203974 LIDJ CAN, ICE-BOX, LN
2264004 LID, [CAN, ICE~BOX, OVC
2263416 CAN,| ICE-BDX, 10mK

PAGIADE  CAN, 1CE-BOX, SOmK

2863326 CAN, ICE~BOX, 600nK
d634ze  RING, BACK-UP, E-PORT, LHe
2863743 FLANGE, BLANK-TFF, E-PORT, LHe £
2dai982  RING, BACK~UP, F~PRI, LHe
7363316 CAN) ICE~BOX, LHe

78G3%¢  E-QUVER, (AN, ILE-BOX, LN
PAGRT%  CAN, ILE-BOX, LN

1 22pe756  CAN| ICE-BOX, OVC

g 1 ¥

i E N B B IS BB

\ KON-OVC CL

ocv CL /

T L tr] A FER] gru] it 1 | ] S50 = | PG | &b} | A ] n] ~d | S5 | O

F~PORTS ~—

g

N

ot

REGU| ITEM| PART KO DESCRIFTICH
(LESS OTHERVISE SFECIFIED SHIP (RLERS LAWRENCE BERKELEY LABORATORY
@l 11 ret Ei/64 | IR [ IMIVERSITY [F CALIFCRNIA-EERKELEY
2ok 0 pags 4 10 jRIE B Py WIVP DETECTIR
By b 00 =N WIHP DETECTOR CEYODSTAT ASSY
Sy Al cmsy,  |LGOl ICE-BOX_PAIL ASSY
T 18 B T LEE T BT T IR %}}\l{; TAG PAIDME OLEAR WG TIFE S:L‘u’t@ 13 J b 213 k¥ !Brﬁ;nu
H WODE O NETAIS m ; T g - A ECEESE& T I S ETY,
- s 4 = | fyme SO i Triigk ML 1 bR
KL OD S P ANDT P, LUFT [ BTX I (otobrres st g s v s "
RV o |70 DATE CHANGES FEFLFEIES: RG] 7148 8 TS O ] TAYLIR U oy 7816~03 223626
6 e 1




